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In this test, there are 20 multiple choice questions with 5 points for each question. Please
select the correct answer for each question.

1. AnU.S. southern state has night state universities in its system. The numbers of volumes
(in thousands) held in their libraries are 83, 510, 33, 256, 856, 1085, 401, 47, and 23.
The standard deviation of the numbers of volumes of the seven state universities is:

(A) 133502.54 (B) 365.38 (C)387.54  (D)150187.25 (E) 1201498.00

2. A fair coin is tossed three times and the events X and Y are defined as follows:
X: {At least one head is observed}
Y: {The number of heads observed is odd}
What is the probability of P(XNY)?
(A)7/8 (B) 6/8 (C)5/8 (D) 4/8 (E)3/8

3. Tfle New York Yankees baseball team plays 80 percent of their games at night and 20
percent during the day. The team wins 60 percent of their night games and 70 percent of
their day games. According to today’s new'spaper, they won yesterday. What is the
probability the game was played at night?

(A) 60% (B) 70% (C)77% D) 87% (B) 92%

4. Ten percent of new automobiles will require warranty service within the first year.
Jones Honda sells 12 automobiles in April. What is the probability that less than two
automobiles require warranty service?

(A)0.23013  (B)0.28243 (C)0.37657 (D) 0.65500 (E) 0.88513

5. Arecent study by the Taiwan Highway Patrolman’s Associalion revealed that 60 percent
of Taiwanese back-seat passengers use their seat belts. A sample of 10 back-seat
passengers in Taipei is selected. What is the probabilily that 8 or fewer of the back-seat
passengers are wearing seat belts? ‘

(A)0.99395 (B)0.95969 (C)0.95364 (D)0.87907 (E) 0.83271

6. Astudy of the lines at the checkout registers of Safeway Supermarket revealed that,
during a certain period at the rush hour, the number of customers waiting averaged four.
What is the probability that during the period four customers were waiting?

(A)0.165 (B)0.175 (C)0.185 (D) 0.195 (E) 0.205
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7. Amanufacturer of automobile batteries claims that the distribution of the lengths of life
‘ of its best battery has a mean of 55 months and a standard deviation of 6 months,
Suppose a consumer group decides to check the claim by purchasing a sample of 50 of
these batteries and subjecting them to tests that determine battery life. Assuming that the
manufacturer’s claim is true, what is the probability the consumer group’s saxﬁple hasa
mean life of 53 or fewer months? .

(A)0.0091 (B)0.1291 .  (C)0.3709 (D) 0.4909 (E) 0.5091

8. Acola-dispensing machine is set to dispense on average 7.00 ounces of cola per cup.
The standard deviation is 0.10 ounces, What is the probability that a machine will
dispense between 6.85 and 7.25 ounces of cola?

(A) 04332 (B)0.4938 (C)0.8664- (D) 0.9270 (E)0.9876

9, Astudy conducted by the Taurus Health Club revealed that 40 percent of its new
members are significantly overweight. A membership drive in a metropolitan area
resulted in 500 new members. What is the probability that 220 or more of the new
members are overweight?

(A)0.0375 (B)0.1760  (C)0.4400. (D) 0.4625  (E) 0.0336

10. Suppose the President wants an estimate of the proportion of the population who support
his current policy toward China. The President wants the estimate to be within 0.03 of
the true proportion. Assume a 95 percent level of confidence. The Secretary of State
estimated the proportion suppbrting current policy to be 0.40. How large a sample is
required?

(A) 722 (B) 1025 (C) 1068 (D) 1667 (E) 2400

Use the following problem to answer questions 11-14.

How well do airline companies serve their customers? A study showed the following
customer ratings: 3% excellent, 28% good, 45% fair, and 24% poor. In a similar study of
service by telephone companies, assume that a sample of 400 adults found the following
customers ratings: 24 excellent, 124 good, 172 fair, and 80 poor. Is the distribution of the
customer ratings for telephone companies different from the distribution of customer ratings
for airline companies? Test at a =.05.

11. Which of the following methods will you properly suggest?
(A) t-test (B) z-test (C) Regression analysis (D) ANOVA (E) Chi-square test
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12. Which null hypothesis is being tested?
(A) Hipg = 0.

(B) Ho: Pi— [e2 ={.

(C) Hy: Pi—P; =0. .
(D) Hyp: P1=0.03,P: =0.28 P =045 P: =024
(E) Customer ratings for airline companies and telephone companies are independent.

13. The critical vale of the test is '
(A)7.815  (B)2.3534 (C) 1.96 (D)2.7764  (E) 1.645

14. The calculated value for the test statistic equals
(A) 16.84 (B) 11.34 (C) 11.07 (D) 5.99. (E) 4.37

Use the following problem fo answer. questions 15-17.

A firm would like to develop a regression model to forecast its yearly sales in each of its sales
regions. The firm has decided to base its forecast on regional population size (x;) and its
yearly regional advertising expenditures (xz). Two models are fit to data collected from n=24
and which are

Full model: E(Y) = B + B x1 + B X+ B xiXz + fa X1 + Ps x2° (SSE=159.94)

Reduced Model: E(y) = & + B x1 + 5 x2 (SSE=309.44)

15. What hypothesis would you test to determine which model is better?
(A)Ho: fo=pr= fr= B = 1= ps=0.
B)YHa: fio = f1=p =0.
(OHw fy=fs=ps =0.
D)He: pi= o= 3= sy = fs=0.
(E) Ho: 1= 3:=0.

16. What is the value of the test statistic for concluding that the full model contributes more
information for the prediction of y than does the reduced model?
(A)1.88 (B) 5.61 (C) 8.89 (D) 16.68 (E) 14.95

17. The critical vale of the test is
(A)28.869 (B)2.3534 (C)1.96 (D)3.16 (E) 1.645
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Use the following problem to answer questions 18-19

Researchers studied the attitudes of three groups of professionals that influence U.S. policy
governing new technologies: Scientists, Journalists, and Federal government policymakers.
Random samples of 21 scientists, 21 journalists, and 21 government officials were asked
about the safety of nuclear power plants. Response were make on a seven-point scale, where
1=very unsafe and 7=very safe. The mean safety scores for the groups are scientists, 4.1;
journalists, 3.7; government officials, 4

18. How many freatments are included in this study?
(A7 (B) 21 (C)3 (D) 4 (E) 2

19. The MSE for the sample data is 2.355 and the SST (treatment) for the sample is 22.56.
What is the test statistic if we want to test whether there are differences in the attitudes of
scientists, journalists, and government officials regarding the safety of nuclear power
plants?

(A)3.15 (B) 2.355 (C) 8.89 (D) 11.28 (E) 4.79

20. A researcher was interested in comparing the salaries of female and male employees of a
particular company. Independent random samples of 8 female and 15 males yielded the
following weekly salaries (in dollars).

Female Male
495 722 518
760 562 904
556 880 1150
904 520 805
520 500 480

1005 1250 970
743 750 605
660 1640

Determine a 98% confidence interval for the difference between the mean weekly salary
of all females and males.

(A) -$385to 5164 (B) -$382 to $158

(C) -$431 to $208 (D) -$383 to $159

(E) None of the above is true.
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TABLE!l (cont.)
Areas under the
standard normal curve

Second decimal place in z

600 00! 002 003 o054 005 006 007 008 009
0.0 0.5000 0.5040 0.5080 0.5120 0.5160 0.5199 0.5239 05279 05319 0.5359
0.1 0.5398 0.5438 0.5478 0.5517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 0.5793 0.5832 0.5871 05910 05948 0.5987 0.6026 0.6064 0.6103 0.6141
0.3 0.6179 0.6217° 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
0.4 0.6554 0.6591 0.6628 0.6664 0,6700 0.6736 0.6772 0.6808 0.6844 0.6879
0.5 0.6915 0.6950 0.6985 0.7019 07054 0.7088 07123 0.7157 0.7190 0.7224
0.6 0.7257 0.7291 0.7324 0.7357 0.7389 0.7422 07454 07486 0.7517 0.7549
0.7 [ 0.7580 0.7611 0.7642 0.7673 07704 0.7734 0.7764 07794 0.7823 (.7852
0.8 0.7881 0.7910 0.7939 0.7967 0.7995 0.8023 0.8051 0.8078 0.8106 0.8133
0.2 0.8159 0.8186 0.8212 0.8238 0.8264 .0.8289 0.8315 0.8340 0.8365 0.8389
1.0 0.3413 0.3438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0(.8621
L1 0.8643 0.8665 0.8686 0.8708 0.8729 0.8749° (.8770 0.8790 0.8810 0.8830
12 0.8849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0.8997 0.9015
L3 0.9032 0.9049 09066 0.9082 09099 09115 09131 09147 09162 09177
14 0.9192 0.9207 09222 0.9236 09251 0.9265 09279 09292 0.9306 0.9319
1.5 | 09332 09345 (9357 0.9370 09382 0.9394 0.9406 09418 09429 0.9441
16 | 09452 09463 0.9474 0.9484 0.9495 09505 0.9515 0.9525 0.9535 0.9545
L7 | 0.9554 0.9564 09573 09582 0.9591 0.9599 0.9608 (.9616 09625 0.9633
18 0.9641 09649 0.9656 0.9664 09671 0.9678 0.9686 0.9693 09699 0.9706
“19 | 09713 09719 -09726 09732 0.9738 09744 09750 0.9756 09761 0.9767
2.0 09772 09778 09783 0.9788 0.9793 09798 09803 (.9808 09812 0.9817
2.1 0.9821 09826 09830 0.9834 09838 09842 0.9846 0.9850 0.9854 0.9857
2.2 0.9861-0.9864 09868 0.9871 0.9875 0.9878 0.9881 0.9884 0.9887 0.9890
2.3 0.9893 0.9896 0.9898 0.9901 09904 095906 0.9909 0.9%911 09913 0.9916
24 09918 0.9920 0.9922 09925 0.9927 0.9929 0.9931 09932 09934 0.9936
2.5 0.9938 09940 09941 09943 09945 09946 0.9948 0.9949 .0.9951 0.9952
2.6 0.9953 0.9955 0.9956 0.9957 0.9959 09960 09961 0.9962 0.9963 0.9964
27 0.9965 0.9966 09967 0.9968 0.9969 0.9970 0.9971 09972 09973 0.9974
2.8 09974 09975 09976 0.9977 09977 09978 0.2979 0.9979 0.9980 0.9981
- 2.9 0.9981 09982 09982 0.9983 0.9984 0.9984 0.9985 (.9985 0.9986 0.9986
3.0 0.9987 09987 0.9987 09988 09988 0.9989 0.998% 0.9989 09990 0.9990
3.1 0.9990 09991 0.9991 09991 09992 (0.9992 0.9992 (.9992 09993 0.9993
3.2 0.9993:0.9993 09994 0.9994 09994 0.9994 09994 0.9995 09995 0.9995
33 0.9995 0.9995 0.9995 09996 0.99% 0.9996 G.9996 0.9996 09996 0.9997
34 0.9997 0.9997 0.9997 0.9997 0.9997 09997 0.9997 0.9997 09997 0.9998
35 0.9998 0.9998 09998 05998 0.9998 0.9998 0.9998 0.9998 0.9998 0.9998
3.6 0.9998 (.9998 09999 (0.9999 0.9999 0.9999 0.9999 0.9999 0.9999 0.9999
37 0.9999 09999 0.9999 0.9999 09999 0.9999 0.9999 0.9999 0.9999 0.9999
3.8 0.99991 0.999% 0.9999 0.9999 0.9999 09999 0.9999 09999 09999 0.9999
39 1.0000

1 Forz = 3,90, the areas are 1.0000 to four decimal places.

.
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TABLE IV
Values of ty df toao  foos  tooes tom £0.005 df
1 3078 6314 12706 31.821 63.657 I
2 188 2920 4303 6965  9.925 2
a 3 1638 2353  3.182 4541 5841 3
' . 4 1533 2132 2776 3747 4604 4
: 5 1476 2015 2571 3365  4.032 5
6 1440 1943 2447 3143 3707 6
7 1415 1895 2365 2998  3.499 7
8 1397 1.860 2306  2.896  3.355 8
9 1383 1833 2262 2821 3250 g
Io 1372 1812 2228 2764 3,169 i0
1 1363 1796 2201 2718 3,106 i
| 12 1356 1782 2179 2681 3055 12
13 1350 177t 2160 2650  3.012 13
14 1345 1761 2145 2624 2977 14
] 5 1341 1,753 2131 2602 2947 15
. 16 1337 1746 2120 2583 2921 16
.7 1333 1740 2110 2567  2.898 17
18 1330 1734 2101 2552  2.878 18
19 1328 1729 2093 2539 2861 19
20 1325 1725 2086 2528  2.845 20
21 1323 1721 2080 2518 2.831 21
‘ 22 1321 1717 2074 2508 2819 2
; 23 1319 1714 2060 2500  2.807 23
i 24 1318 1711 2064 2492 2797 24
25 1316 1708 2060 2485 2787 25
2% 1315 1706 2056 2479 2779 26 :
27 1314 1703 2052 2473 2771 27 f
28 1313 1701 2048 2467 2763 28
29 1311 1699 2045 2462 2756 29 :
30 1310 1697 2042 2457 2750 30
31 1309 1696 2040 2453 2.744 31 j
2 1309 1694 2037 2449 2738 32
- 33 1308 1692 2035 2445 2733 33
34 1307 1691 2032 2441 2728 34
. 35 1306 1690 2030 2438 2724 35
36 1306 1.688 2028 2434 2719 36
37 1305 1687 2026 2431 2715 37
38 1304 1686 2024 2429 2712 38
E 1304 1685 2023 2426  2.708 39
40 1303 1684 2021 2423 2704 40
41 1303 1683 2020 2421 2701 41
42 1302 1682 2018 2418  2.608 42
43 1302 1681 2017 2416  2.695 43
44 1301 1680 2015 2414 2,692 4
45 1301 1679 2014 2412 2.690 45
46 1300 1679 2013 2410 2687 46
47 1300 1678 2012 2408  2.685 47
! 48 1299 1677 2011 2407  2.682 48
49 1299 1677 2010 2405 2.680J 49
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TABLEVHL {cont.) =
Values of x2 xé10 xéos x&02s Xéo x&ons df
) 2.706 1,841 5.024 6.635 7.879 b
4,605 5.991 7378 9210 10597 2
6.251 7.815 $348 11345 12.838 3
- 7,779 9488 11,143 13.277 14.860 4
0236 11070 12833 15086  16.750 5
10645 12592 14449 16812  18.548 6
12.017 14067 16013 18475 20278 7
13362 15507 17535 20090  21.955 8
14684 16919 19023 21666  '23.589 9
15987 18307 20483 23209  25.188 10
17275 19675 21920 24725 26757 i
18.549 21026 23337 26217 28.300 12
19.812° 22362 24736  27.688  29.819 13
21064 23685 26119 20141 31,319 14
22307 24996 27488 30578  32.801 I5
23542 26206  28.845 32000  34.267 6
24769 27587 30191 33409 35718 17
25989  28.869 31526  34.805  37.156 18
27.204  30.143  32.852 361901  38.582 19
28412 31410 34170 37566 139997 20
20615 32671 35479 38932 41.401 21
30.813 33924 36781 40290 42,796 22
32,007 35172 38076 41638 44181 23
13,196 36415 39364 42980 45559 24
34382  37.653 40647 44314 46928 25
35563  38.885 41,923 45642  48.290 26
36741 40113 43195 46963  49.645 27
37916 41,337 44461 48278  50.994 28
39.087 42,557 45722 49588 52,336 29
40256 43773 46979 50892 53672 30
51805 55759 50342 63691 . 66767 40
63.167  67.505 71420 76154  79.490 50
74397 79082 83298 88381  9].955 60
85.527 90531  95.023 100424 104213 70
96.578 101,879 106628 112328 116320 80
107.565 113,145 118135 124115  128.296 90
118499 124343 120563 135811 140,177 100
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TABLE VIll (cont.) din
Values of Fg

did o 1 2 3 4 5 6 7 8 9
0.10 3.03 2.64 244 231 222 2.15 2.10 2.06 203
0.05 445 359 320 296 2,81 2.70 2,61 2.55 249
17 0.025 6.04 4,62 401 3.66 344 3.28 3,16 3.06 298
0.01 8.40 6.11 5.18 4.67 434 4.10 3.93 379 3.68
0.005 1038 735 616 5.50 507 4.78 4,56 439 4.25
0.10 3.0t 2.62 242, 229 2,20 2.13 2,08 2.04 2.00
0.05 441 355 3.16 293 2,77 2.66 2.58 2.51 246
18 0025 598 4.56 395 3.61 3.38 3.22 310 3.01 2.93
0.01 8.29 601 509 4.58 425 4.01 3.84 371 3.60
0.005 10.22 7.21 6.03 5.37 4.96 4.66 4,44 4,28 4,14
0.10 2.99 261 240 2.27 2.18 2.11 2,06 2.02 1.98
0.05 4.38 3.52 3.13 2.90 2,74 2.63 254 248 242
19 0.025 5.92 4,51 3.90 3.56 333 3.17 3.05 2,96 2.88
0.01 B.I8 593 501 4,50 4,17 394 377 3.63 3152
0.005 10.07 7.09 592 527 485 4.56 4,34 4,18 4,04
0.10 297 2.59 2.38 225 2.16 2.09 2,04 2.00 1,96
0.05 4.35 349 3.10 2.87 2.71 2.60 2.51 245 2.39
20 0025 5.87 4,46 386 3.51 3.29 3,13 3.01 291 2.84
0.01 8.10 5.85 494 4.43 4.10 3.87 170 3156 346
0.005 9.94 699 5.82 517 4.76 4.47 4.26 409 3.96
0.10 2.96 2.57 236 223 2,14 2.08 2.02 1,98 1.95
0.05 432 347 3.07 2,84 268 2.57 249 242 2.37
21 0025 5.83 4.42 3.82 348 325 3.09 297 2.87 2,80
0.01 8.02 5.78 4.87 437 4.04 3.81 3.64 3.51 340
0.005 0.83 5.89 5.73 5.09 4.68 439 4.18 4,01 3.88
0.10 2.95 2.56 2.35 2.22 213 2,06 2.01 1.97 1.93
0.05 4,30 144 3.05 2.82 2.66 2.55 246 240 234
22 0025 5.79 4.38 378 344 322 3.05 2,93 2.84 2.76
0.01 7.95 572 4.82 431 3199 3.76 3.59 345 335
0.005 9.73 6.81 5.65 502 4,61 432 4,11 3.04 3.81
0.10 2.94 2.55 2.34 221 211 2.05 1.99 1.95 1.92
0.05 4,28 342 3.03 2.80 2.64 253 244 2,37 232
23 0025 5.75 435 3.75 341 3.18 302 290 2.81 2.73
0.01 7.88 5.66 476 426 394 i 3.54 341 330
0.005 9.63 6.73 5.58 495 4.54 4.26 4,05 3,88 375
010 293 254 233 2.19 2.10 2.04 1.98 1.94 1.91
0.05 4,26 340 3.01 2.78 2.62 2.5] 242 2.36 230
24 0.025 5.72 4.32 37 3.38 3.15 2.99 2.87 2.78 2.70
0.01 7.82 5.61 472 4.22 3.90 3.67 3.50 3136 326
0.005 9.55 6.66 552 4,89 449 4.20 399 3.83 3.69
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(1) The first phase problem of any linear programming probiem (in two-phase simplex
method) must have optimal solution.

(2) If there is no entering variable at some iteration (in Simplex Method), then this linear
programming problem is infeasible.

(3) Ifalinear programming problem is feasible, its dual must be feasible.

(4) If a transportation problem is balanced, it must has optimal integer solutions.

(5) While solving a minimization integer programming problem (in branch and bound
method), a subpr_oblem with bound less than Z* must be fathomed if the-objective

value of the current candidate solution is Z*.

I.AEBHEANTS)

L1 (+&4)
Suppose we use Simplex method to solve the following Linear Programming problem:

max Z =10x, +8x,

st x+x,—x =3
20 —x,-x, =2 ,
2x, +4x,+x, =10

X5 Xy, X3, Xy, %5 20

and obtain a simplex tabular;

" Basic Variable | Z x| x2 | x3 | x4 | xs | Right-Hand-Side
A 110 [A)]*[0]0 (B)
* 0 1 * * 0 0 %
{C) 0,0 | *|*]1[0 *
* 0 0 * | 0 . 1 %

(A). What is the value (A) in above tabular? (34")
(B). What is the value (B) in above tabular? (343)
(C). What is the value (C) in above tabular? (343)
(D). What is the entering variable? (343)

(E). What is the leaving variable? (343)
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2 (+x4)
Given the following Assignment problem (M represents as a very large number):

Machine | Job1 Job2 Job3 Job4 -

1 4 5 M M
2 M 4 M 4
3 3 M 2 M
4 M M 4 5

Defi 1, if machine { is assigned to perform job j
efine x, = .
“ |0 , otherwise

Consider this problem as a transportation problem with the following {abular, We
force x5 to be a basic variable, and “Northwest Come}'” Method is used to generate the
initial basic feasible solution.

1 2 3 4 Supply u;
1 4 5 M M * (1)
2 M 4 M 4 * 0
3 3 M 2 M * *
4 | M M 4 5 *
Demand * * () *
v; * * * * 7 =

(F).  What are the basic variables in above tabular? (343
(G). What are the values of basic variables? (3453)

(H). What is the value of u,? (353)

(). What is the value of (I) in above tabular? (3773)

(I).  'What is the entering variable? (3773)
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Consider a service station with 2 different servers, server 1 and server 2 and waiting
space of four (That is the maximum number of customers, including customers in service,
in the service slation is four). Customers arrive at the service station according to a
Poisson process of rate . Arrivals who find the service station full leave the system
immediately. Service time for server i is exponential with rate p;, { =1, 2. Assume that
customers always choose server 1 for service whenever both servers are idle and once
service with a server starts, the customer stays with that specific server until he completes
his service. This system can be modeled as a Markov process with state space (m, 1),
where m is number of customers in the system, /=0 if server 2 is idle and /= 1 if server 2

is busy.

(K). What is the state space of this Markov process? (54")

(L). Draw the transition rate diagram of this Markov process. (154-)

L4 (=+4)

A system is consisted of two units, unit 1 and unit 2. Assume that life time of unit ;
is exponential of rate A;, i = 1, 2.

(M). When units 1 and 2 are in series then the system fails whenever one of the
units fails, What is probability that the system failure is caused by failure of
unit 1? (547)

(N). What is the distribution of time till system failure when units 1 and 2 are in
series? (54)

(0).  When units 1 and 2 are in parallel then the system fails when both units are
down. What is the expected time till system failure? (104>)

(P).  Letunit 1 be the main component of the system and unit 2 be standby, then the
system load is taken by unit 1 when both units are up. When unit 1 is
operating, unit 2 is idle. Unit 2 takes up the system load immediately after

failure of unit 1, What is the expected time till system failure? (104
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1. %P @ L+ 2ACenter of Gravitysk Fik 4l b oDy R4 b 243 » S SIS LM TR FR AL
YT RAT  RlARP o B R B RE A?

TO
R Fe A% A B C D
Fl A |00 | —[10] 0| 3
R B G610 0 | — 5] 0
0 C (20,5) 5 8 — 15
M| b {x, ) 5 5 0

(4)(11,417)  (B)3,5) (C)(15,3.7%) (_13)(6,5) (E) (.67, 5)

2. (iAW) AHA B~ CE4AI3E » felCenter of Gravity sk KD REM E » HRAFEMNH{ECH - T
b EpE

(A) Center of Gravityrk: 94 JE8% 4 3£ % 3% A & #% 95 % (Euclidean Distance)

(B) Center of Gravitysz #3582 47 & §e 3k A & A 55 Bt (Rectilinear Distance)

ORBDHREMEX R ELEVUABCH AR AT ER N kg

D)y #&EDHREM EL X EABA K L

EREDH AN EL XS EUBCAABRYABERZ AR SN

3 ARPRQLEMEMBANLT AR - METANLE T HLABANRAL LT - B BARSL T

IR &9 2500485 ~ M BAL T8 A E HB0% -

AR | % RE | e LB BRI | R RE(%)
P 1000 0.50 5%
Q 2000 0.75 10%

(A3 B4 (O5 D6 B)7

4, (%A T HIH M E Ll o 473 EA?

(A) Design Capacity £ 535 Ly R A A Sk (B) Efficiency = (Actual Output) / (Design Capacity)
(C)4 Utilization = 100%%§ » R|Efficiencys4i%100% (D)% Efficiency = 100%8¥ + R|Utilizationss 3E100%
(B) Utilizationsé & A ¥+ % £ M Efficiency

5.(i:BA5) A Time Seriesty MM AR F &  HFEZAHHEREN - BEwoBN TR EFTAL IS ER
IMEF AP TRAMT » B PR HASRE R o TFl4ldTd EE?
Y

Fo.. O/[E]
o T 2]

I N A >
1T 2 3 4 5

(A) TP {AF & F,3ik A Moving Averages:((Z A)/n) » RIn; >ny

(B) £FRIAEF I AF,4%k A Moving Averagei:((Z A)/n) » Riny <nm,

(C) %ﬁMﬁFlﬁ_Fzglﬁm Exponential Smoothingii-(FE Futa (AH—FH) ' _E.Fz =Al ' F.'] a1>a,
(D) %ﬁﬁ]{ﬁplﬂf‘&ﬂ]ﬁm Exponential Smoothingi.t—.(FF F..1+a (AM —'Fg.]) 4 ..E-Fz =A1 ' Bl 1<d2
E) %3k
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6 il = st T BT A A ERFHRMAL B EEHE AL TRMAT -
CBio R S Aoy a5 i BT 3E B]150 ~ E4% 7 Centered Moving Averagesk £ H BN AR Z SO E=N
FRGE FAMICGHEERB AN ERHER)
4 | F-0 | B | F=
1 20 50 40
2 30 56 45
A58 B 60 (C)63 (D)65 (E)68

7. (LER) PO MARBIITH T Il ATHESR?

(A) FHEREHRERTR

(B) & th s M A 50

€ 4BNPHEHIEHIBSBE5.0

D) 428 P EHEHBES B A0

(B) %345 sidadgez A —~MARL0  Ai ke PR EHERZ T E S H —EARLO

8. (LBAD) %43 FA 41 A L5 A (Transportation Model) 52 75, = 7 89 A 4-3%. 3] (A ggregate Planning) » 3K 74
b T A A AR ESMISA  BEARLEMEN2A 2R AR5 MEM6T - B—MMnERFO
B BBk ARTOE - B~MEL =M ECESMRALS] S 1 10040 ~ 12018 - 10048 - B —MEE =
ﬁﬁi%iﬁﬁ-i}z‘}% : 8048 ~ 14048 ~ 8048 « F F| 4k kT ESE P

Demand
1 2 3 Total
1 P Q
Supply 2
3 M N
Total
AREBRETEmE  ARMLIFRRE (B)_t.# (Transportation Table) ¥ » B4t sk AM=177%

(C).L.#(Transportation Table) ¥ » B4 st AN=217 (D)L #(Transportation Table) ¥ » R4 fg R P=2170
(B).L. #(Transportation Table) ¥ » F4 B R Q=197%

0 LIEM) LA SMAEA1S00 & &5 5100 - KRBT Rt F + SAMaster Schedulingf2 F i 47 94 + 3t
thBMaster Scheduling # 4% F & & M RE » F Fl4L {7 E507
Period
1 2 3 4
Forecast | 60 60 60 60
Customer Order | 70 50 30 10
(A% 151 2 F 4 ATPH 7 260 (B) % 131 2 40 #4MPS 4 51 & : 0,0, 100, 100
()} 45189 A 7 (Projected On-hand) E 50  OEUREFIM T »RARIMMTLE—ENE
(E).L.%  #4Customer Order AMPS3 R sk 0 2. F + 2 REASKE —~FITREFIM B H K70 TR EF

10 2R EXANBARBAGEN ABESL  BASRE -BEE - ARE - #LE - LIBKEF
EAEE » ATRIRMME T o b8 BB X AT ST BE &R Hiam?

(A) Product Layout {(B) Process (Functional) Layout {(C) Cellular Layout (D) Fixed Position Layout
(E) Rank Positional Layout

1L GESERA) ¥ A B4R TR B 6 AR BB AT SR - F P M AL 2 40 P S0 e ALl 47 A JEARY
(A) kA b ehiin oA o A b 2 4 S 0RRY o Br Aik A & Ay Cycle time

(B) BARTAk3E 4k ¥ eF MR AR 80 T4k 35 » DPAR AR LAE 2

(C) £ 5Tk ek BoFR1440 F) » RIS 43534 34 M) .55 F](Idle Time)

(D) &R RARIALAEE » A5 EH M Eu¥A(Idle Time)

€) LALH TR T RTHAENE EFBHTHRE
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2. gpariRd TR—F o « —RERBRY ) GRRME - ARSMALSOBMIESE A ERURT

A4 R Ia?
(A) Product Layout (B) Process (Functional) Layout (C) Group Layout (D) Fixed Position Layout
(E) Mixed Product Layout

13-16 88 : R ERMAIBFAORGMMA T KT » o F - RABHEMISA  BERFFHA - FFRE
EELR e TUBMEE  SAER2T RELTHMA:

G
ﬁw

ﬁi

EEE 20 30 40 50 60 70 80
X #H 2 5 8 10 8 5 2

13, a0 R BRA R B A AT R » AT FI4Rat 4T 4 R ESK ?
(A) BERMZBZEEFTAS0 B) AREHMRAERET RERMARREE D BiE20.5385 (C) Rk
HRAERET A RMBRRED Bk 204615 D) HMABRGE KT HO0H A KA AL 50825

W 2% R AR A HATR  ASE RS B B T ?
(A)20 (B)40 (C)50 (D)60

15, 3 5% R AT AJCA AL AT ST A L5 7
(A) FHBRARTTH30 AANEHMA2035 (B) #¥HARMRERTAH40 AIAMEHMNE26335 (C)
FHaRAEFETAH0 AARMEHME272 D) £E58MARKTTA60 AL THIA25275

6AMRHMRACHNRLET + LRAEENEBE H » NRH HABMAE - Rl BOOMRA  FMEAHMH

BA%T? |
(4)23625 (B)220 (C)245.18 (D)260.75

1720 83 : -S4 L SHEEM WS HEHEEAR - RARTEE  BRTHLTRAF - SHL
ARA 1700 4 THER SRR B THAAMS AEK A EREZ R -

A RE HZRE £ ARH AR E/E
A 80 2.0 160
B 100 1.8 250
C 65 3.0 175
‘D 88 L5 300
E 120 22 200

17. #3585 R (run out of time) H T ?
(A)0.3150 (B)0.2041 (C)0.2562 (D) 0.2445

18, 2H DM E LA 28 F AMERSREN)?
(A)103 (B)205 (C)166 (D)273

19, W SHABZAE RS BT?
{A)E-B-C-D-A (B)C-D-B-E-A {C) D-C-B-A-E (D) B-C-A-D-E

20 A% CzA AR AE FEROEEAN)T?
(A)225 (B)362 (C)437 (D)266
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UBA: BRTAZHRE (FHTHFQBRE2MAFHE ML M2 MiB) 22 M Th» 2448
BAETHRAFR R NME » $hE AT 5P -

I 4% A B C D E
| M#l 8 6 4 9 5
M2 3 4 2 1 3

| M# 2 5 6 6 9

2. B HBmZ MmN AETF?
(A)25.6 (B)26.2 (C)254 (D)25.38

22 A D s MH#3 B2 BARRER AT ?
(A)21 (B)26 (C)25 (D)35

BMER2 2B erR (idle time) 24T ?
®3 @®22 ©21 (D)20

M5 M ABTR—BE2 BB EA A L MPS £ 2EE - ARDRE AL Z T Ao THF BOLE
 #74% (balance of line)H 75 5 & F 5| B A4 - .

AdHT2 MPS (96 SATF4) ¢
Al 1] 2 [ 3 ]| 4[5 ] 6
#:% [ 200 | 200 | 400 | 400 | 600 | 600

AST2 A ANAE (%5 m7 58 R Fa8a0F):

» @
020202020

I ! 1 1
2 32 1 12 .0

ASTESH2AmAARHHE (RARM4H308):
g 1 | 2| 3] 4] 5|6 |7
#% [ 2400 | 2050 | 2200 | 1850 [ 1750 | 1650 | 1200

W FTHEMAERTAEAME 2 43t » fTHFEH?
A FBExAZREMAISOE B) M52 ABEFMS0FM (C) sz 4 A EAN S0 B4
D $&3 24 ABFEFM 100 B

B FTHAEMAATHR 2 2453 - THEEH?
(A) £ 2BEAMWS0FE/ (B) 2ARERHS0F (O LZBEBAI0054a (D) £FEEFELI10E
f
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(1) Computer variable
(2) Class and Object
(3) Encapsulation

(4) Multithreading

(5) ODBC

(6) SQL
(7) Linked list
(8) Web 2.0

2. #a%|(Class)i% ¥ (26%)
M35 % ; (Complex) B4 K & 25 $ @48 5 » A realPart + imaginaryPart * i

EF 0 Ri=V-1 B THhA SRR E TR TaK B 6%

£ PB4, (atribute) BT 54 B % c(Member function) s, 5 (Method)
BRERBRAFTERA AL DAERUE - 818 - AEERK

(1) add(cobj) : 4 3% $c ¢ e L AL S cobj » A A — G -
(2) subtract(cobj) : 4 34 UK F A S 4F cobj » A A —MMH(E)EHT -
(3) multiply(cobj) 4 3% L7 A8 $h4 cobj > E A —MAHGH LA -
(4) divide(cobj) : 4 %A B AL 4 cobj » £ A — M LS D -
(5) print() : WX a+bi X FRALAFZERE R EHRTAMS -

[Note : i* =-1]

3. 3.5 P2P(Peer to Peer, B5#fB3ain) et X » A RFEHBHAAME ¥/

 REAMTRABEMR/EAE o (15%)

4. itih Web 2.0 #1468 B & R/4U8AT P R BB/ /P RGE - THR LML
F RIS - (20%)

5. %9 Wikipedia (332 F #) H48 M & £/48080 TR ) B E /M R/ A -
(15%)
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2. 3K hmz (n+z) ZABRR

w

3k Je” sin3x dx 2 {f

e

R j‘ T

hedd

* j-iSEde a,b >0 25

° g+ bcos® x
6. BRS()=x"-2x-3, K fix) £ [-2,4] W x BIFFRIRR 2 Fkg
ToESf()=e" R M) B x=0 R x=3 THEPB

8. BRSf(x)= re”sint dt , R fx) I 0sx=7 ZFEE
o s n(x D" o
K z Tanor TR

10. x=tan’(y* +a) , 2‘?—

(SR 10 53)
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1.

2.

3.

In response to news reports that taking aspirin daily can reduce an individual's risk
of a heart attack, there will most likely be a{n)

A. increase in the supply of aspirins.

B. decrease in the supply of aspirins,

C. increase in the demand for aspirins.

D. increase in the quantity demanded of aspirins.

Consumer surplus will be zero at any quantity if
A. supply is perfectly elastic.
B. supply is perfectly inelastic.
C. demand is perfectly clastic.
D. demand is perfectly inelastic,

A firm is currently producing in the inelastic portion of its demand curve, What
course of action should you recommend to this firm?

A. Continue producing at the current output level, because thefirm will
maximize its total revenue by producing in the inelastic portion of its
demand curve.

B. Reduce price, because if demand is inelastic and price is reduced, total

revenue will increase.

~ C. Increase price, because if demand is inelastic and price is increased, total

4.

revenue will increase.
D. Continue selling at the same price, but increase the number of units it
produces. )

The government is considering placing a tax on cigarettes to raise revenue to
finance health care benefits. One of the arguments for this tax is that the demand
for cigarettes is price inelastic. Which of the following statements is TRUE?

A. The tax on cigareties may not raise as much revenue as anticipated in the
years to come because the demand for cigarettes is likely to become more
elastic over time.

B. . This is a very good way to raise revenue both in the short term and in the
long term because there are no substitutes for cigarettes.
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C. This tax will not raise much revenue either in the short term or the long
term because demand is price inelastic. '

D. No tax revenue can be raised in this way because sellers of cigarettes will
just lower their price by the amount of the tax and therefore the price of
cigarettes to consumers will not change.

5. For Tom, the marginal utility of the first cup of coffee he drinks in the morning is
worth $2.00. The marginal utility of the 9th cup of coffee he drinks is positive and
the marginal utility of the 10th cup of coffee he drinks in the morning is worth $0.
This implies that at a price of $0, Tom i

A. would drink an infinite number of cups of coffee each morning,

B. would drink at least 10 cups of coffee per morning.

C. would drink more than 10 cups of coffee per morning, but the actual
number is indeterminate from this information.

D. would drink zero cups of coffee per morning.

6. Assuming that charitable giving is a normal good, the income effect of a decrease
in personal tax rates should

A. lead to less giving because giving to charity would become more expensive
relative to other goods.

B. lead to more giving because giving to charity would become less expensive
relative 1o other goods.

C. lead 1o more giving because households would have more disposable
income.

D. leadto less giving because households would spend that money on luxury
goods,

7. If the substitution effect of a wage change outweighs the income effect of a wage
change, the labor-supply curve is
A. upward sloping.
B. horizontal.
C. vertical.
D. backward bending.
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8. Jerry sells cherry sno-cones along the boardwalk in New Jersey. During the
summer this is a perfectly competitive business, and Jerry faces a perfectly elastic
demand curve. If he wants to try to increase revenues he should

A. raise the price of his sno-cones to make more per sale.

B. lower the price of his sno-cones to try to sell more.

C. keep the price the same but produce more to increase sales:
D. do nothing; there is nothing he can do to increase revenue,

9. If the marginal product of labor equals the average product of labor, then the
A. average product is: maximized.
B. marginal product is maximized.
C. marginal product is still increasing.
D. average product is still increasing.

10. You own a building that has four possible uses: a cafe, a craft store, a hardware
store, and a bookstore. The value of the building in each-use is $2,000; $3,000;
$4,000; and $5,000, respectively. You decide to open a hardware store. The
opportunity cost of us:ing this building for a hardware store is

A, $2,000, the value if the building is used as a cafe.

B. $3,000, the value if the building is used as a craft store.

C. $10,000, the sun of the values if the building is used for a cafe, a craft store,
or a bookstore.

D. $5,000, the value if the building is used for a bookstore.

11. The total cost curve for a {irm can be derived from isoquants and isocost lines by-

A. varying the prices of capital and labor and keeping total expenditure
constant.

B. varying production technologies, but keeping input prices and expenditure
levels constant.

C. varying total expenditures while keeping input prices and production
technology constant. ’

D. varying the price of either capital or labor while keeping total expenditures
and production technology constant.

"
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12. If a firm's demand curve is perfectly elastic, then at the profit maximizing level of
output
A. P=MR=MC,
B. P>MR>MC.
C. P<MR<MC.
D. P>0and MR=0. "

A firm suffers operating losses if

A. price exceeds average variable cost but is less than average total cost.
price exceeds marginal cost. ' '
revenues are smaller than variable costs of production.

Snw

revenues are greater than variable costs of production but less than total
costs.

If a firm is incurring an operating loss, in the short run the firm should
and in the long run the firm should

produce where MC = MR, exit the industry

shut down; exit the industry

produce where MC = MR; expand

OCowr

shut down; expand

Engineers for The All-Terrain Bike Company have determined that a 15% increase
in all inputs will cause a 15% increase in output, Assuming that input prices
remain constant, you correctly deduce that such a change will cause
as output increases.

A. average costs fo increase

B. average costs to decrease

C. average costs to remain constant

D. marginal costs to increase

Assume the peanut industry, a perfectly competitive industry, is in long-run
equilibrium with a market price of $5. If demand for peanuts increases and this
industry is a decreasing-cost industry, long-run equilibrium will be reestablished
at a price

A. greater than $5.

B. less than $5.
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C. equal to $5.
D. either greater than or less than $5, depending on the number of firms that
enter the industry.

17. Assuming labor is the only variable factor of production, production of a good
will occur "

A. aslong as the marginal revenue product of labor is positive.

B. if society values a good more than it costs firms to hire the workers to
produce the good.

C. aslong as the product's price is greater than the marginal revenue product of
labor,

D. if the marginal cost of a unit of output equals the marginal revenue product
of labor. '

18, Because petroleum is fixed in supply, its price is
A. demand determined.

supply determined.

inelastic.

vaw

independently detetmined.

19, The number of seats available in a stadium is fixed at 80,000. The equilibrium
price for a ticket to a football game at the stadium is $30. The equilibrium price
for a ticket to a soccer match at the stadium is $10. Which of the following is
TRUE?

A. Football games must be more expensive to produce than a soccer'match.

B. The demand for each football game must be more than the demand for each
soccer match.

C. The supply of soccer matches must be less elastic than the supply of
football games.

D. The demand for each soccer game must be greater than the demand for each
football game.

20. Joe and Carl are both reporters and they both have the same productivity, They
each can write five articles a week. Joe writes articles about celebrities. Carl
writes articles about economics. Joe earns twice as much as Carl. Which of the
following could explain this? ’
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A. There are more reporters writing about celebrities than there are reporters
writing about economics.

ol

The output effect is greater for celebrity writers than economics writers.

C. There must be more substitutes available for economics writers than there
are for celebrity writers.

D. People are willing to pay more for stories about celebrities.than for stories

about economics.

21. When market interest rates , investment projects are
undertaken. -
A. decrease; more

B. increase; more
C. decrease; less
D. increase; no

22. Monopolistic competition differs from perfect competition primarily because in
A. monopolistic competition, firms can differentiate their products.
perfect competition, firms can differentiate their products.
C. monopolistic competition, entry into the industry is blocked.
D. monopolistic competition, there are relatively [ew barriers to entry.

23. An oligopoly with a dominant price leader will produce an output level that is
than the output level that would prevail if the industry were a

monopoly and sells it at a price that is than the price that would
prevail if the industry were a monopoly.

A. higher; higher

B. higher; lower

C. lower; lower

D. lower; higher

24. You want to purchase a new car. You have gone to 3 dealerships that sell the type
of car you want, The price of the car is different at each of the dealerships. You
have estimated that if you go to another dealership, the marginal amount you may
save will be $250, but the marginal cost of going to the dealership would be $350.
Which of the following statements is accurate?

-
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You should go to the next dealership, as you would be able to save an
additional $250.
In order to determine whether or not you should go to the next dealership,
you would need to know the total costs and total benefits of this action.,

You should not go to the next dealership because the marginal cost of this

action exceeds the marginal benefit.

You should continue going to dealerships as long as the ma:gmal benefit of

additional search is positive,

25. If the payroll tax for Social Security in the United States were levied on all wage
and salary income instead of just the first $87,000 of wage and salary income, the

payroll tax would be

A,

B.
C.
D

regressive.

progressive.

proportional.
an ability-to-pay tax.

26. Assume that apples cost $0.50 in 2002 and $1 in 2007, whereas.oranges cost $1

in 2002 and $1.50 in 2007.

If 4 apples were produced in 2002 and 5 in 2007,

whereas 3 oranges were produced in 2002 and 5 in 2007,then the GDP deflator

in 2007, using a base year of 2007, was approximately:
A,

B.
C.
D

1.5°
1.7
1.9
2.0

27. [If there are 100 transactions in a year and the average value of each transaction
is $10, then if there is $200 of money in the economy, transactions velocity is

times per year-

0w
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o 30.

31.

28.

29,

32.

If income velocity is assumed to be constant, but no other assumptions are made,

the level of ___ _ is determined by the quantity of money.
A. prices

B. income

C. transactions

D. nominal GDP

The percentage change in the price level is approximately equal to the

percentage change in:

A. the quantity of money.

B. the quantity of money minus the percentage change in real output,

C. the quantity of money minus the percentage change in real output plus the
percentage change in the transactions velocity of money.

D. the quantity of money minus the percentage change in real output minus the
percentage change in the transactions velocity of money.

If the nominal exchange rate falls by 10 percent, the domestic price level rises
by 4 percent, and the foreign price level rises by 6 percent, the real exchange
rate will fall by:
A. 0 percent
B. 8 percent
C. 10 percent
D. 12 percent
In a small open economy, if the introduction of automatic-teller machines
reduces the demand for money, then net exports:
A. fall and the real exchange rate falls.
B. fall but the real exchange rate remains unchanged.
C. remain unchanged but the real exchange rate falls.
D. and the real exchange rate remain unchanged.

Assume that some large foreign countries begin to subsidize investment by
instituting an investment tax credit. Then, if world saving does not depend on
the interest rate, world investment:

A. will rise and home country investment will fall.

B. will rise and home country investment will remain unchanged.

C. will remain unchanged and home country investment will fall.

D. and home country investment will both remain unchanged.
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33. Assume that a war breaks out abroad, and foreign investors choose to invest
more in a large safe country, the United States. Then, the U.S. real interest
rate:

A. and net exports will both fall.
will fall and net exports will rise.
will rise and net exports will fall.

Uaow

and net exports will both rise. .
34. If the rate of separation is 0.02 and the rate ofajob finding is 0.08 but the current
unemployment rate is 0.10, then the current unemployment rate is _____ the
equilibrium rate, and in the next period it willmove ____the equilibrium rate,
A. above; toward
B. above; away from
C. below; toward
D. below; away from

35. Assume that a country experience a reduction in productivity that shifts the
labor demand curve downward and to the left. If the labor market were always
in equilibrium, this would lead to:

A. alower real wage and a rise in unemployment.

B. alower real wage and no change in unemployment,
C. alower real wage and less unemployment.

D. no change in real wage or in unemployment.

36. If the per-worker production function is given by y = k", where y is output
per worker, and k is capital per worker, the saving rate is 0.2, and the
depreciation rate is 0.1, then the steady-state ratio of capital to labor is:

Al

B.
C.
D.

O

37. Assume that a.war reduces a country’s labor force but does not directly affect its
capital stock. If the economy was in a steady state before the war and the
saving rate does not change afler the war, then, over time, capital per worker
will and output per worker will grow than it did before the

war.
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38.

39.

40.

41.

decline; faster
decline; more slowly
increase; faster

Cow

increase; more slowly

If the U.S. production function is Cobb-Douglas with capital share 0.3, output
growth is 3 percent per year, depreciation is 4 percent per year, and the Golden
Rule steady-state capital-output ratio is 4.29, to reach the Golden Rule steady
state, the saving rate must be: ‘

A. 17.5 percent

B. 25 percent

C. 30 percent

D. 42.9 percent

If the marginal product of capital net of depreciation equals 8 percent, the rate of
growth of population equals 2 percent, and the rate of labor-augmenting
technical progress equals 2 percent, to reach the Golden Rule level of the capital
stock the rate in this economy must be

A, saving; increased

B. population growth; decreased

C. depreciation; decreased

D. total output growth; decreased

If the production functionis ¥ =4-K**.I'? in the land of Solovia, where A
is a parameter measuring the productivity of technology, K denotes the amount
of capital, and L. denotes the amount of labor, and the labor force increases by 5
percent while capital is constant, labor productivity will:
A. increase by 3.33 percent.
increase by 1.67 percent.
decrease by 1.67 percent.

caow

decrease by 3.33 percent.

The rate of growth of labor productivity (Y/L) may be expressed as the rate of
growth of total factor productivity:

A. plus the capital share multiplied by the rate of growth of the capital-labor

ratio.
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42.

43.

a4,

45,

B. minus the capital share multiplied by the rate of growth of the capital-labor
ratio, .
C. plus the rate of growth of capital productivity.

o

minus the rate of growth of capital productivity.

If the demand for money increases, but the central bank keeps the money supply
the same, then in the short run output will;

A. fall and in the long run prices will remain unchanged.

B. remain unchanged and in the long run prices will fall.

C. remain unchanged and in the long run prices will remain unchanged.

D. fall and in the long run prices will fall.

If the central bank reduces the money supply by 5 percent, then the real interest

rate will:

A. rise both in the short run and the long run.

B. rise in the short run but return to its original equilibrium level in the long run.

C. rise in thé short run but will fall below its original equilibrium level in the
long run.

D. be unaffected both in the short run and ihe long run.

If central bank A cares only about keeping the price level stable and central bank

B cares only about keeping output at its natural level, then in response to an

exogenous increase in the price of oil:

A. both central bank A and central bank B should increase the quantity of
money. =

B. central bank A should increase the quantity of money whereas central bank B
should keep it stable. .

C. central bank A should keep the quantity of money stable whereas central
bank B should increase it.

D. both central bank A and central bank B should keep the quantily of money
stable.

Consider the impact of an increase in thriftiness in the Keynesian-cross analysis.
Assume that the marginal propensity to consume is unchanged, but the intercept
of the consumption function is made smaller so that at every income level
saving is greater. This will:
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A. lower equilibrium income by the decrease in the intercept muitiplied by the
multiplier.

o

lower equilibrium income by the decrease in the intercept.
C. raise equilibrium income by the decrease in the intercept.

>

rise equilibrium income by the decrease in the intercept multiplied by the
multiplier.

* 46. The increase in income in response to a fiscal expanston in the IS-LM is:

A. always less than in the Keynesian-cross model

B. less than in the Keynesian-cross model unless the LM curve is vertical
C. less than in the Keynesian-cross model unless the LM curve is horizontal
D. Iess than in the Keynesian-cross model untess the IS curve is vertical

47. In a small, open economy with a floating exchange rate, the exchange rate will
depreciate if
A. taxes are decreased.
B. import quotas are imposed.
C. government spending is increased.
D. the money supply is decreased.

48. If the demand function for money is -ll;— =0.5-Y -100-r, where M stands for

the quantity of money, P stands for the price level, Y stands for income, and r
stand for interest rate, then the slope of the LM curve is
A. 0.001
B. 0.005
C. 0.01
D. 0.05

49, If the demand function for money is —Ag— =0.5-Y-100-r andif -A;{— increases

by 100, then the LM curve for any given interest rate shifts to the:
A. left by 100.
B. left by 200.
C. right by 100,
D. right by 200.
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50. Other things equal, a given change in money supply has a larger effect on
demand the:
A. flatter the IS curve.

steeper the IS curve.

smaller the interest sensitivity of expenditure demand.

oow

smaller the income sensitivity of expenditure demand.




